Find the value and the optimal strategies for the two person zero-sum game below.
	
	Player 2

	Player 1
	1
	2
	3

	
	2
	0
	3


SOLUTION:

	
	Player 2
	Min

	Player 1
	1
	2
	3
	1

	
	2
	0
	3
	0

	Max
	2
	2
	3
	


There is no saddle point therefore this is a mixed strategy problem.  Player 1 will always avoid column 3 (it dominates), so remove from the analysis.

Resulting Matrix:  

	
	Player 2
	Min

	Player 1
	1
	2
	1

	
	2
	0
	0

	Max
	2
	2
	


Let Q = the proportion of time Player 1 plays Row 1

Let P = the proportion of time Player 2 plays Column 1

Therefore:
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The value of the game is:  
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I am not sure what to do next in order to determine the optimum strategy
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